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	1. Why did the government stop minting silver dollars?
__________________________________________________
__________________________________________________
2. What effect did not having enough money in circulation have on prices? 
__________________________________________________
__________________________________________________ 
THE PROFIT OF “MIDDLEMEN”
3. What service did middlemen offer to farmers? 
__________________________________________________
__________________________________________________
__________________________________________________
4. How did farmers feel about middlemen? 
__________________________________________________
__________________________________________________

HIGH SHIPPING COSTS
5. What effect did “long haul” prices have on “short haul” prices? ___________________________________________
_________________________________________________
_________________________________________________
_________________________________________________
FARM DEBT AND THE COST OF MONEY
6. What did farmers use as security for bank loans?

_________________________________________________
7. What is “cheap money”
_________________________________________________
_________________________________________________

8. What did farmers think would happen to prices if the government flooded the economy with silver coins?
________________________________________________
________________________________________________
	Name two natural disasters farmers faced in the 1880’s.
1)____________________________________________

2)____________________________________________
THE GRANGE MOVEMENT
3. What does the word grange mean in French?
_____________________________________________
4. Who first organized the Grange?
_____________________________________________
GRANGER LAWS

5. What two types of rates did new Granger laws target for regulation?
a).___________________________________________

b)___________________________________________

6. What did The Supreme Court rule in Munn v. Illinois (1877) concerning state government regulating private utilities?
______________________________________________
______________________________________________
______________________________________________
______________________________________________
7. How did Wabash, St. Louis & Pacific Railroad v. Illinois (1886) invalidate many of The Granger Laws?
______________________________________________
______________________________________________
______________________________________________
______________________________________________
______________________________________________


	FARMERS
	
	

	1. Did farmers remain self-sufficient after The Industrial Revolution? _______________
2. How vulnerable to changes in market prices were farmers? _____________________
3. What happened to the price of wheat between 1870 and 1890? ____________
_________________________________

4. Who did the farmers blame for these problems? ________________________
_________________________________

AGRICULTURAL OVER PRODUCTION

5. What was the main reason for crop price reduction? _______________________
________________________________
6. Give THREE reasons for over production
a. ______________________________
________________________________
________________________________
b. ______________________________
________________________________
c. ______________________________
________________________________
7. CHOOSE CHOICE A or B
Decreased crop prices 
a. HURT city-dwellers
b. benefitted city-dwellers
8. What two types of transportation created an international market for food crops?
_________________________________
_________________________________
_________________________________
	
	

	INTERSTATE COMMERCE ACT (1887)
	THE ELECTION OF 1896

	Name THREE things The Interstate Commerce Act required Railroads to do.

1. _________________________________________
___________________________________________
___________________________________________

2. _________________________________________
___________________________________________
___________________________________________

3. _________________________________________
___________________________________________
___________________________________________

THE POPULIST PARTY, 1892-1896
Who did The Populist Party think had a stranglehold on government?
__________________________________________
__________________________________________
What problem did The Populist Party have with the Democratic & Republican Parties?
_________________________________________
_________________________________________
In their view, why were bankers trying to restrict the money supply?
_________________________________________
_________________________________________

What two groups did they hope to unite to combat this?
_________________________________________
_________________________________________
	
What did Populists blame the depression on? __________________________________________________________

What was their plan to increase the money available? ___________________________________________________
_______________________________________________________________________________________________
_______________________________________________________________________________________________
_______________________________________________________________________________________________

THE DEMOCRATIC CONVENTION
What THREE things did President Grover Cleveland do to make Democrats feel he was becoming too conservative?
a) ____________________________________________________________________________________________
______________________________________________________________________________________________
b) ____________________________________________________________________________________________
______________________________________________________________________________________________

c) ____________________________________________________________________________________________
______________________________________________________________________________________________

What effect did William Jennings Bryan “Cross of Gold” speech have on the Democratic Party? 
______________________________________________________________________________________________
______________________________________________________________________________________________

Why did Populists decide to support Bryan and what effect did it have on The Populist Party?
______________________________________________________________________________________________
______________________________________________________________________________________________
______________________________________________________________________________________________
What 3 things did The Republican William McKinley support? ____________________________________________
______________________________________________________________________________________________
______________________________________________________________________________________________
______________________________________________________________________________________________

How much more money did McKinley raise than Bryan? ________________________________________________

Total Votes for Bryan       ________________________
Total votes for McKinley ________________________

What happened to Populist ideas after the party disbanded? ____________________________________________



